Nl Ol &F AF & &9 N AN
20188 = 20l A LB H T Al H & Dt
S SAHE D
HM: ZE9 S8HQ 0|2 & 2 (2ELY XYM /XNALEZAl)
oot CAHE Y (B9 ®R)
- RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
T Al HE 53,304,506 27,511,895 25,792,611
= 307,000
Al 52,997,506
=2E9 SEH0 0|8 ¥ A(ZEYXNHENE/XNFLE 10,089,000 5,556,082 4,532,918
Al)
& 307,000
Al 9,782,000
TAHE =¥ 493,972 1,150,291 A 656,319
CASEAE 40,524 32,083 8,441
201 B9 15,512 9,648 5,864
01 AP 22| H| 15,512 9,648 5,864
O1.det=2H| 8,600
—CAEESER dBx=2H| 3,600,000& 3,600
-HAHOIEINEXNYR Let=2Y|
5,000,000& 5,000
O5. 24| 6,912
“EAEE AR2FX AI2AZ2X 24
8,000 x6H 12 x12& 6,912
202 04| 6,480 6,480 0
01 2Ll 6,480 6,480 0
OEAN#EE HRFE Y|
60,000& *4H 3L x63] 4,320
OAAOI=SI dR2F=& (Y|
60,000& »2H 3L *x63] 2,160
203 € R =& 10,800 10,800 0
03 AIZH =X 2 =X H| 10,800 10,800 0
O ANSEEH(SAIHE AL ) HR2=AH|
10,800,000 10,800
301 et A= 7,732 5,155 2,577
08 MBI ERRIBAZ 7,732 5,155 2,577
OAZER2RA 7,732
-Jl23 405,669 x1H x12& 4,869
-= AlH| 7,000 1«22 x 122 1,848
- S| 2,600 x1H*x22 x 128 687
-1 24| 327,600 x1H 328
SADIE(&e)HE 453,448 1,118,208 A 664,760
201 LBt Y| 62,208 94,448 N 32,240
01 AP 22| d| 43,008 24,448 18,560
O1.dbt=2H| 37,700
—CAHEER dBtx=2H| 2,700,000& 2,700
—TAHEGR ME2DE
1,500,000 20 AF*43] 12,000




S SAHE D
HM: ZE9 S8HQ 0|2 & 2 (2ELY XYM /XNALEZAl)
Sl TAINE 2 (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—TAHE 525 2 15,000 x2008 3,000
-Zs CAIHEASHH(UPIS) DB & &5t
20,000,000 20,000
03.2g89x4 700
—BAMAEHS AW HMLY
70,000 *5H x23| 700
O5. 24| 4,608
“CAIHE HRFX AIAAZ 2L 24
8,000 x4H 12 x12& 4,608
02 B232%H| 19,200 70,000 A 50,800
O3. A& &H|l S XYl 19,200
-XE CAHEESHAH(UPIS) EAZH KX
g4 320,000,000& *6% 19,200
202 044l 5,040 7,560 A2,520
01 2Ll 5,040 7,560 N2,520
OZAHE SRF=80H|
60,0003 »4H *3 x73| 5,040
203 €2 F=&d| 16,200 16,200 0
03 Al 2 =& 2 = X H| 16,200 16,200 0
OZAIHEAY HR2F=EY| 16,200,000 16,200
207 A F I & 370,000 1,000,000 A 630,000
01 A 370,000 1,000,000 A 630,000
OZAJIZ2HE =8 L A2 HE THHEY|
=9 300,000,000& 300,000
Ogaoor 2AZER IH JI2HE £ EIEYEHd A
229 70,000,000 70,000
S AID|BHAIE &= 13,860 9,460 4,400
AEE T AN 13,860 9,460 4,400
201 LBt | 9,540 6,220 3,320
01 AFR 2t 2| bl 8,540 5,220 3,320
O1.48t=2H| 4,700
e & JIBAIEAEEHZ2 Y2FA Bt
>~ 24| 2,700,000& 2,700
SNSRI AN ESHSs SE=sE =422
1,000, 000& *23] 2,000
O5. 34| 3,840
—CAJHEY HRFA A2UAAZL2X S 4
8,000 x4Hx102 x12& 3,840
02 E32%H| 1,000 1,000 0
O1.2Z22=22L Al 1,000
-st=22& 3| 1,000,000 1,000
202 044l 4,320 3,240 1,080
01 2L Y| 4,320 3,240 1,080




2AM: SAHED
HH: 2EQ 8% 08 ¥ 2A(ZELNINL/NELE
S9l: TADIBAIY =5 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZANZHS=E O
60,0003 *4H 3 63| 4,320
S AR 8,632,878 4,052,310 4,580,568
SAHEASE =& 131,632 10,840 120,792
201 Let24d] 6,880 6,520 360
01 At 22l 6,880 6,520 360
O1.det=&H| 4,000
—“ZAIZHAIE =& LBt=ZHl 4,000,000 4,000
O5.2 &l 2,880
“ZAIZHIALY =& AIZA2R2X 24
8,000& *3EH 10 128 2,880
202 O4dl 4,320 4,320 0
01 = LH 4 bl 4,320 4,320 0
OZAZHIAY 2F=E LI
60,0003 *3H 32 83| 4,320
401 A& HIZ 201 I 120,432 0 120,432
01 A& HI 120,000 0 120,000
OstsU~FEEXN 22 T2 (E3-150) & S At
120,000, 000& * 14 120,000
03 AlE 2 THHI 432 0 432
OstsU~ZEE2X 22 T2 (S3-150)HE S AF Al
AL 0Hl 120,000,000 *0.72/100x50%< & 2> 432
(FEEY SSHY MY 46,836 41,470 5,366
201 Let249] 41,796 40,210 1,586
01 At 22l 41,110 39,710 1,400
O1.Let==ZH| 3,050
PRSI SFONY dB=ZHl 2,000,000 2,000
-HRALUSE =JHE 3,500& *3004 1,050
O3.2g8=¢ 34,220
M ALMALFSAG AR HALY
70,000 x5H »23] 700
~SAHERBE AW BALY
100,000& 17X «123] 20,400
—CAHEARE 2R AW HALY
100,000 6% =123l 7,200
~ZESE YW BHLY
100,000& 10 *23| 2,000
-EHel ¥ wusd =
14,000 28 =103l 3,920
O5.2 &l 3,840
(P ESASENL AVA2LT 24
8,000 «4&H =102 «12& 3,840
02 =224l 686 500 186
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2AM: SAHED
HFH: FEQ §8H0 018 ¢ AA(ZELXNEMLY/NSLZ A
o2l SAINY (&t
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O1.2Z22SZHA 686
~HeASY YREX 2R
1,960& »350AH 686
202 oddl 5,040 1,260 3,780
01 = LH o4 1l 5,040 1,260 3,780
O(P)EFA=BNL ALEOH Y]
60,0003 *4H 3«73 5,040
=22 LEZ HEZBA 1,000,000 4,000,000 23,000,000
401 Al Bl 2B 1,000,000 4,000,000 3,000,000
01 A& HI 995,000 3,990,000 22,995,000
OX3XF TNUEZ2 HE SAH(ISHL S A
f432) 995,000,000 =14l 995,000
03 AIE 2 0H I 5,000 10,000 25,000
O==2X=7 A2 N4 SAL Al 20|
5,000,000 » 14l 5,000
Soffl =& M HIAIE A8 5,000,000 0 5,000,000
401 Al HI & 28I 5,000,000 0 5,000,000
01 A& HI 4,990,000 0 4,990,000
OEd Th=F MY HIOAIE A (ZSHES
A BEZ) 4,990,000,000& =14 4,990,000
03 Al 2 THHI 10,000 0 10,000
OSaoll Th=2R ME UIIAIE 28 AMERUL
10,000, 000& * 14! 10,000
ChE& T CHOAIE 2HE 2,454,410 0 2,454,410
401 Al Bl 28I 2,454,410 0 2,454,410
01 A& HI 2,450,000 0 2,450,000
Oz C=2R ME HIOAIE A8
2,450,000, 000& 14 2,450,000
03 Al 2 0HHI 4,410 0 4,410
Oz C=SH MY UIOAIE 28 AELU8
2,450,000, 000& *0.36/100x50%<& 2> 4,410
SIIB2AEEXNH 25 811,980 185,078 626,902
< 300,000
Al 511,980
XA 2 209,280 172,161 37,119
101 el24dl 15,250 17,431 A2,181
M4 IR Z22NSES 15,250 17,431 22,181
O=JI&E 2l & NE%HSSHA 15,250
-JleEs 60,240 x1E 202 x9 10,844
=g 60,240% 1«38+ 2,290
-ANRSF Y 60,2403 x1H 9 543
-AHEE JI2RE3 13,677,000& *11.5% 1,573
— 4 —




2N
X ZH -
L= B

el

)
alll
10
ol
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A
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0t
Ne
1]
)
M
HM
He
b
12
2
ne
>
19
He
H
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SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 134,710 151,130 N 16,420
01 At 22l 12,892 10,880 2,012

O1.get==2Hl 5,000
-HESAXOH & XNE2e| PR eS|
3,000,000& 3,000
-0ISJIEXNSR LEt=ZH| 2,000,000 2,000
038.28=¢ 980
-ESAEIIRAS AR FHsE
70,0003 +7H »23] 980
O5.=2 &l 6,912
SHEBAXOL & EXNEHEAAS 2R AlZHE
22 =4 8,000& «6H 12128 6,912
02 =24l 121,818 140,250 A 18,432
O1.332=LHA 1,568
-0ISII&EX &4£50F0FI S8 SRS
1,960& 800 1,568
O3. A& & Hl* X bl 120,250
—ESABEAIAE(KRAS) MAAIAE SIS
= 293,300,000& #8%x*1. 1 25,811
-QlECtY X2IEEANLE KA
217,500,000& »8%*1. 1 19,140
-SIHS2AIESEMAH RANE=>
259,495,000 *8%*1.1 22,836
-2 Y MOt EEH2(GISAIAE XS
270,900,000 *8%*1.1 23,840
-S2EE CIAGHANAEH FANE =
302,527, 1603 *8%* 1.1 26,623
XA =2 EHI(GPS) 7 Xl 22l 2,000,000& 2,000
202 O4dl 4,320 3,600 720
01 =S LH YI 4,320 3,600 720
OXNHEHR F=TOH 60,000 *6 % 32! x43] 4,320
405 TtatF S 55,000 0 55,000
01 AL EFSFHSHI 55,000 0 55,000
OS2 B AAE (KRASRI 2J1) AECIX F2(
&Y MEEX) 55,000,000& 55,000

K= THZE ALALS 2,700 12,917 A 10,217
201 L2l 2,700 2,700 0
01 At 2t 2l 2,700 2,700 0

O1.€et=EH| 2,000
K& EAE AHY B2 HI 2,000,000& 2,000
03.2g8=¢ 700

SN EAM RS 2 B L
70,000 x5H »23] 700




M SAIHED
H: 2EQ 58X 018 & 2 (2 ELXNIAMNL/NALTAI

Sl RNTAIBHN 7E (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S Z2LRGHAE =& At op = AFAFH<E > 600,000 0 600,000
= 300,000
Al 300,000
401 Al HI K 201 I 600,000 0 600,000
< 300,000
Al 300,000
01 A& Bl 600,000 0 600,000
OE=2 & XGtAIES LSt SHAHALY
600,000,000 =14 600,000
< 300,000
Al 300,000
CEERHFAAY 136,310 158,943 A 22,633
= 7,000
Al 129,310
FAMY 129,310 131,443 22,133
101 @124l 20,286 17,431 2,855
04 JIZHHZ2Z2XNSE =+ 20,286 17,431 2,855
OS2 =AY YREX 20,286
-Jles 60,2403 x2H 202 «6°H 14,458
- 60,2403 x2H +x25=F 3,012
-GRISFIOE 60,2403 x2F 62 723
-AHEE JI2RE3 18,193,000& *11.5% 2,093
201 Yete | 14,320 21,200 6,830
01 At 22/l 13,720 14,200 A 480
O1.eet=2H| 10,000
-2 A 2HAFN =EH|
10,000, 000& 10,000
O3.2d=¢ 840
-SERHFARAYS HAE
70,0003 »8H * 12 560
-} HF&g 70,0003 x4H 13 280
O5.2 &l 2,880
—E2EHFIAANY FA AILAZRL =4
8,000& x3&+10 128 2,880
02 =24l 600 7,000 A 6,400
O1.332LHA 600
—C2HFA ADE KAIS &S| Sz
50,0003 1CH*12& 600
202 O4dl 3,240 3,240 0
01 = LH 4 Hi 3,240 3,240 0
OERE=AAMY FA 0|
60,0003 *3H 3 63l 3,240
308 XX EHH SOl A 20,664 19,572 1,092
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2AM: SAHED
FM: oA ACR 24 2 R (FELXNGMNL /ML)
ol AIEHXI TN EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 1,000,000 1,000,000 0
OZY03 LPtAACI JIBAIE ZE I A
1,000,000, 000& 14 1,000,000
03 AlE 2 THHI 3,150 3,150 0
OZLot3 LEHAACT] JIBFAIE ZES A Al
AL 0l 1,000,000,000& *0.63/100x50%< & 2> 3,150
M4t eHx] o 23,033,450 1,211,120 21,822,330
201 €24l 6,000 7,560 A 1,560
01 At 2t 2/l 6,000 7,560 A1,560
O1.det==2Hl 6,000
~AANE Y AYEN ZDR
1,500, 000 «2J4 At *23l 6,000
401 Al HIZ 2018 23,027,450 1,202,160 21,825,290
01 A& HI 23,000,000 1,200,000 21,800,000
OGYUoH4 ABHAA T (1) A S A
13,000,000, 000 * 14! 13,000,000
OZLoHg detMAT 210 HZ2E2 WL
S At 10,000,000, 000& * 14! 10,000,000
03 A& S THHI 27,450 2,160 25,290
OZ U0t ABFAACHTI(1EH) ZHI AL AlE
£ 0idl 13,000,000, 000& *0.23/100x50%< & 2> 14,950
OZLoHg detMAT 210 HZ2EZ WL
S AL AlE R THHI
10,000,000, 000 *0.25/100%50%< & 2> 12,500
HE2AZHI (SAIHE D) (IIEH/IIE) 149,246 122,894 26,352
Jl23dl 149,246 122,894 26,352
A2 8,786 8,824 A38
201 Let24E] 8,786 8,824 A38
01 At 22l 8,486 8,524 A38
ORNE2Y LE=EH| 4,670,000 4,670
ORN2YE S&Hl 2,232,000& 2,232
O=AI & xt 132,000& = 1CH» 128 1,584
02 =224l 300 300 0
ORN2YE 23223 300,000 300
AR FE N 132,300 105,600 26,700
202 O4dl 132,300 105,600 26,700
01 = LH 4 1l 132,300 105,600 26,700
OFYRFAAE 20,0008 *35F 152 122 126,000
O&SUHEZ2XHE 20,0002 35«3 »3& 6,300
22 =& 8,160 7,500 660
203 YR =&l 8,160 7,500 660




2AM: SAHED
M HAYSIHU (TAHED)(JIEHIIE
¢l =gl (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 /122 =4 3,300 3,300 0
OJ22HgRFIHI(ZE) 3,300,000& 3,300
04 EA2IYRFLH| 4,860 4,200 660
ORMSIESFIHI(H & :31) 4,860
-2 400,000 x12& 4,800
-t 5,000& x1H~12& 60
HRES(SAHEU)(ZELXNGMNL/NSLZAI) 18,993,660 18,877,449 116,211
HEHHKE 900,000 900,000 0
B AN ES 900,000 900,000 0
701 JIEtSI HEHES 900,000 900,000 0
01 JIEtSI HE &3 900,000 900,000 0
O&IINIEEY TAHEANE HRNEL dASE
H HES 900,000, 000& 900,000
E8XE 18,093,660 17,977,449 116,211
gt 3 J| E 18,093,660 17,977,449 116,211
802 BHEt = JI Ef 18,093,660 17,977,449 116,211
03 Ug=s 18,093,660 17,977,449 116,211
OYUDIZ ABIAMATIT 2LHS vra
18,093,660, 000& 18,093,660




